Appendix 5: Grade 12 Chemistry Unit 3 - Kinetick

(c) Rate of production of CO,
CHag + 2 Ozg — COzq + 2H20,

0 ?

The rate of production of CO:is the same as compared to the rate of consumption of CH is

1x1.26mol/Ls=125mol/L-s
(d) Rate of production of HO
CHug) +2 Ozq — COzg + 2H20

1 ?

The rate of production of H,O is 2 times as fast as compared to the rate of consumption of CH, is

2x1.25mol/L-s=250mol/L-s

9. (@) 4Hlg + Oz — 2l + 2Hx0

r 7

The rate of formation of |, is 2 times as fast as compared to the rate of consumption of O..
=2x0.0042 mol/L-s = 0.0084 mol/L-s

(b) 4Hig + Oz¢) = 229 + 2H20q

1 1

The rate of formation of H;O is 2 times as fast as compared to the rate of consumption of O,.

=2x0.0042 mol/L-s = 0.0084 mol/L-s

(6) 4Hlg + Oz¢) — 29 + 2H20,

The rate of consumption of Hi is 4 times as fast as compared to the rate of consumption of O..
=4x0.0042 mol/L-s = 0.0168 mol/L:s

10. (a) 4 NOyq + O2() — 2N20s

T 7

The rate of formation of N>Os is 2 times as fast as compared to the rate of consumption of O..

=2x0.024 mol/L-s = 0.048 mol/L-s



